Math 54-1 Your name: K%
Quiz 12, August 5, 2010

Please write your name on each sheet. Show your work clearly and in
order, including intermediate steps in the solutions and the final answer.

1. (5 pt) Find the general solution to the homogeneous equation
' —4y +13y =0

and determine the form of a particular solution to the inhomogeneous

equation
Y’ — 4y’ + 13y = €**(1 + cos(3z)) + z° sin(3z)

obtained using the method of undetermined coefficients. Do NOT solve
for the coefficients.
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2. (5 pt) Find the general solution of the inhomogeneous equation
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